BN

—EELFE=A=1+—H

KR
BZ=A=t+-HALEFE
—22tF —2TNF -TTRF —TINF -TE=F
FET FET FET FHET FET
ERE 33,213 134,740 225,003 89,422 71,030
BRI ER %L (BEB),/ &R (29,138) (108,588)  (72,401)  (30,269) 9,105
BIE (2,010) (937) (100) (1,100) (360)
BREE (B1E),aFl (31,148) (109,525)  (72,501)  (31,369) 8,745
PR RER (442) 1,213 1,845 5,069 6,263
FE(BR),/aFFE (31,590) (108,312)  (70,656)  (26,300) 15,008
HERAR
R=A=+—-H
—BRLF —FEAF —FTERF —TIWF -FE=F
FET FHET FET FET FET
BERE 1,612,914 1,417,395 1,660,291 1,614,957 1,355,512
BRAE (805,102) (708,400) (944,398) (828,086) (542,757)
DERR R (23,317)  (21,704)  (22,483)  (25,449) (25,034)
BRRESE 784,495 687,291 693,410 761,422 787,721
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